~

Ug = g+ RTInag,
i, =u’ +RTIna,
u =up’ +RTIna_
y dp

a,,a.

4 0 4
Hg =V . H +V U

ILlB = V+1Ll+ + V_,Ll_

v,V

— o, _ o
N T
b b+’ b— ~

b,=v.b, b.=v.b.

@)
a,,a Y, Y
v v 1/v
O(.i =((X,++.(X 7)
’ V_V++V-7 a+yas,
3.
D

T

_ Vi Vo
tp=(ora

L=(r

°

, b =1mol/kg..

\%

1/v v, v \MV 0
o, =0 =7V. (VJV:) b/b

)1/ \4



, bg  zs B o mol = kg’.

@ —
Any 2=A| z.z| 1M
H,O , 25°C , A=0.509, ( b<0.01~0.001mol kg™
4.
D
’ G H ’ G::I./R
S, 11071, G A ,
G=k All
, K , sem L, K o .
2
’ Am ’
A=K [c
, C , mol/m®, K , S.m 4, Am

b o

, A m(K2S04)=0.02485S. m?« mol™
A = (1/2K,S0,) =0.012 43S.m* » mol™; A m(K2S04)= A (12K ,S04)
5.

A =VAn, +V_AL_

m —

b

(Aer)T’P = W’ = 'ZFE

z , F . AGm J-molt,



ArS, = ZF (3E/T),

8.
ArH,, = —ZFE + zZF (OE/0T) ,
9. ,
Q, =TArS, = ZRT(JE/4T),
10.
cC(ac) + dD(ap) = gG(ag) + hH(an)
g-g -2y “‘5“‘%’
zF  abaj
0=>veB EzE"—EInHagB
B = g
z , E?
; (Nernst) o
11.
+z28—>
a
E=E’ —Eln—
ZF a
12.
(1 , ,
) ,
3) , , (
C )
1. 2
2.
3. , In K®= zFE®/RT,

Pt. Au



4\ ’ °

5. .
6. , . .
7. , .
8. .
9. ; N 0.1 mol o )
E® .
10. . (GE/OTY)>0 .
¢

1.
(@) (Ohm) (b)
(©) (Faraday) d (Nernst)
2. 0.3 mol -kg™ Na.SO0,

(@) 0.9 (b) 1.8 (c) 0.3 d 1.2
3. 25T :

(a) La” (b) Mg* (c) NH. d H
4, 25C :

(a) CH,COO" (b) Br (c) CI' (d) OH
5. :

@) (b)
(c) (d) 1 mol -dm™

6. (Kohlrausch) )

@ (b)

©) (d) 1 mol -dm™

7. 25C H(g) + % 0:(g) — H.0(1) E%, 2 H0(1)
= 2 Ho(g) + 0:(9) E’

(@)E%= - 2 E% ) E%=2E% ) E%=-E% (d) E%=E%
8. . :

(a) (b) AH
(c) TAS (d AH TaS

9. :

(a) Nacl (b) NaOH (c) Hel (d) HAC



10, 298.15K E°( Fe®/Fe™) = 0.771 V, E°( Sn*/Sn”) = 0.150 V,

Sn* + 2 Fe*

- sn" + 2 Fe¥ , E°
(a) 1.39 V (b) 0.62 V (c) 0.92V (d 1.07V
11. ,
(@
(b)
(©)
(d)
C D
1. ; .
2. 2 AgCl + 2 Hg —~Ag + Hg:.Ll: )
3. 25C : A%, (NaNOs) = a S-m*-mol™, A®,, (AgNOs) = b
S-m*-mol™, A", (3NaS0:)=cS-m-mol™, 25C Ag.S0 A4 AgeSOs)=
S-m’-mol ™.
4, 25C . .
5. , , , ,
1. 0.1 mol -dm™ KCI , 25°C 24.36Q.
1.164 S-m™. 7.5%x10° S-m, 0.01 mol-dm™ HAc,
25C 1982Q), ; 0.01 mol-dm™ HAc
25°C ?
Kaay=RX x = 28.355m™
C(HAc) = 0.01mol/L = 10mol/m’
ko, =Kun/R
A=K B TR 43010 SmPmol
C C(HAC)
2. 25C , 0.01 mol - dm™ KCl , 112.3Q, 0.14114
S-m'; X, 2183Q, (i) (1/78); (i) X
Gl X ( )

: (i) K(|//_\)=R>< k= 15.85 m‘l

(i) &, =Ky p!R=7257x10"°Sm™



Gii) A, =% =7.257x10"*Sm%mol
' C

3. AgOAgQAC(s) OCu(Ac), (b=0.1mol-kgl) OCu E (298K)=—0.372V, E (308K)=
—0.374V. 200K 310K ) C : Ac o
(D
(2) 298K AGr AHpm A Spe
: (1) (-): 2Ag + 2Ac === 2AgAc(s) + 2e
(+):  Cu2* (0.1mol-kgl) +2e === Cu
2Ag+ Cu(Ac), (b=0.1mol-kgl) ===2AgAc(s)+ Cu

(2) AG=—2ZFE=[—2X 96485 (—0.372) ]Jmol-1=71.785kJ

( a_Ej - 0.372(—0.324)]V

K1 =-20x10*V K™
oT 298 - 308

oE
Ar Sm = ZF (a_T) p
=[2X 96485 (—2X104) ]JK-1.mol-1=—38.594 J-K-1.mol-1
A H=[71785+298 (—38.594) ]J-mol-1=60.28kJ-mol-1

4 AgJAgCI(9)|Cl-(a=1)||Cu2*(a=0.01)|Cu.

D

2 25C E;

()25C , (A,Gp) K® ?

: E°(Cu2*|Cu)=0.3402V,  E°(CI-|AgCl(s)| AgCu2+|Cu)=0.3402V .
: (D)2Ag+2Cl-(a=1) + Cu?*(a=0.01) == 2AgCl(s) + Cu

(2) E =[0.3402V -0.2223V - 0'052916Ig 1 o1V =0.05875V

1°x0

(3 A ,Gm=—2FE=[—2X96485X 0.05875] Jmol-L
=—11.337 kJ'mol-1

A,GS =—zFE® = —RTInK©"

2% 96485 x (0.3402 — 0.2223)
8.314x 298.15

INK® = —ZFE®/RT =

=0.1782
K® =9.68x10°



5 , 1.
(1) Fe2t+2e—Fe, E (Fe2Fe)=-0.440V;
(2) AgCl +e—~Ag+Cl-, E (CIAgCI|Ag) = 0.2223 V;
(3) Cly(g) +26—2Cl, E (CICl,JPY) = 1.3583 V.
(L (3, (2 (3 : , .
L (D (3
Fe|Fe2* (a=1) ||CI- (a=1) |Cl, (p ) |Pt
. Fe+Cl, (p ) ===FeCl, (a=1)
. E2E =E (C|Cly)— E (Fe*|Fe)
=[1.3583V— (—0.440V) ]=1.7983V
2 (3
Ag|AgCl(s) | Cl-(a=1) | Clx(p ) [Pt
: 2Ag+ Cly(p ) === 2AqgCl
E=E =E (CHCl,)— E (ClAgCI|Ag)
=[1.3583—0.2223] V= 1.136

6. 25C, p , Pt , , FeCl,(0.01 mol-kg'l)  CuCl,(0.020.01
mol -kg1) . , v (D
7 (2 , ?

E (Fe2t|Fe)=—0.440V, E (Cu2*Cu)=0.337V, E (H*|OP)=1.229V.

. (1) E(Fe2*|[Fe)=-0.4992 V
E(Cu2*|Cu)= 0.2867V

E(CuZ*|Cu)> E(Fe2*|Fe), ,Cu o

2 Fe2+ 0, , E( )=0815V
EC )
E( =E.—E—=E( )— E( )=E®H*"|Oz|P)—E(Fe?*|Fe)
=[0.815— (—0.4992) ]V=1.3142V



